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Session 1: What are the human causes of population growth? 

Session Title Work to be 
completed 

Resource 
provided 

Outcome On-Line Support 

Week starting Monday 18th January  

1 What are 
the human 
causes of 
population 
growth? 

Session 1: 
Complete tasks 1-6 
(p.3-6) 

Work pack Tasks 
completed 
in full 
sentences. 
 
All 
questions 
attempted. 

f.barrie@arkglobe.org 
g.rogers@arkglobe.org 
s.delacave@arkglobe.org 
a.mcgregor@arkglobe.org 

 

2 What are 
the 
physical 
causes of 
population 
growth? 

Session2: 
Complete tasks 1-4 
(p.7-9) 
 
Complete MS 
Forms questions 
https://forms.office
.com/Pages/Respo
nsePage.aspx?id=d
BTLADSljUaCn2Nu
zjLCTPUNp5ndmK
xHknbAOwID99xU
QU45MDVGSEsxT
0hRQVIzUEFUUk
ROM1hEUS4u  
 

Work pack 
 
Microsoft 
Forms link 

Tasks 
completed 
in full 
sentences. 
 
All 
questions 
attempted.  
MS Forms 
quiz. 

f.barrie@arkglobe.org 
g.rogers@arkglobe.org 
s.delacave@arkglobe.org 
a.mcgregor@arkglobe.org 
 

Week starting Monday 25th January 

3 Differences 
in 
population 
between 
HICs and 
LICs  

Complete tasks 1-6 
(p.10-13) 

Work pack Tasks 
completed 
in full 
sentences.  
 
All 
questions 
attempted.  

f.barrie@arkglobe.org 
g.rogers@arkglobe.org 
s.delacave@arkglobe.org 
a.mcgregor@arkglobe.org 
 

4 Youthful 
and ageing 
population
s 

Complete tasks 1-5 
(p.14-16) 
 
Complete MS 
Forms questions 
https://forms.office
.com/Pages/Respo
nsePage.aspx?id=d
BTLADSljUaCn2Nu
zjLCTPUNp5ndmK
xHknbAOwID99xU
NVM5UjkyN09QV
kVCNksyR01VSkFZ
VEdERy4u  

Work pack 

 
Microsoft 
Forms link 
 
 

Tasks 
completed 
in full 
sentences.  
 
All 
questions 
attempted. 

f.barrie@arkglobe.org 
g.rogers@arkglobe.org 
s.delacave@arkglobe.org 
a.mcgregor@arkglobe.org 
 

mailto:f.barrie@arkglobe.org
mailto:g.rogers@arkglobe.org
mailto:s.delacave@arkglobe.org
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
mailto:f.barrie@arkglobe.org
mailto:g.rogers@arkglobe.org
mailto:s.delacave@arkglobe.org
mailto:f.barrie@arkglobe.org
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mailto:s.delacave@arkglobe.org
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUNVM5UjkyN09QVkVCNksyR01VSkFZVEdERy4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUNVM5UjkyN09QVkVCNksyR01VSkFZVEdERy4u
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Learning Objective: To explain the human causes of population growth 
 
Key words:  
Human = to do with  people 
Physical = to do with nature  
Resources = something that people can use to help them 
Population growth  = the increase in the number of people in an area  
Settlement = a place where people live 

 
Task 1: Do Now 

 
Imagine you could live anywhere in the world.   
List the things you would look for when deciding where to live – you must include 2 
human and 2 physical features. 

 
 
 
 
 
 
 
 
 

Task 2: Exposition – read and take notes.  
 
The piece of land upon which a settlement is built is the settlement site. 

There are many human and physical reasons why a site might be chosen for the development of a 
settlement, and therefore why the population grows. 

Some common causes of settlement site location and population growth include:  

¶ Wet point sites - these have a good water supply. Many settlements grew around wet point sites 
for access to water for drinking and farming  

¶ Dry point sites - these are away from the risk of flooding 

¶ Defensive sites - often found on higher ground so that in the past, enemies could be seen from a 
distance, or in the loop of a meander 

¶ Resources - important for industry, e .g. villages such as Aberfan in Wales is close to coal reserves 

¶ Employment – people move to areas where there are better job opportunities, such as cities 

¶ Transport/trading links – people can easily access jobs, shops and services 

¶ Resources – people like to be close to good education, healthcare, and housing, and so people 
migrate (move to) cities to find these 

 
 
Task: Label each bullet point as a human or physical cause of settlement growth 
 
E.g. Wet point site = physical  
 

Task 3: Comprehension 
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Read the text, and answer the 6 questions as you go on your lined paper.  
To ósummariseô means to pick out the key points and write your answers in  a full  
sentence.  
 

¶ Employment 

People need jobs in order to earn a living. In 
very remote areas of the world (areas which 
are not close to cities or towns), there are no 
jobs other than things such as farming and 
people do not earn very much.  
This means people are attracted to cities, 
because there are lots of jobs here that pay a lot more money. This can attract people from rural 
(countryside) to urban (city) areas, or often people from poorer countries are attracted to jobs in 
richer countrie s.  
 
1. Summarise why people live in areas where there is employment. 

2. Suggest why people do not want to stay as farmers. 

¶ Transport Links 
 

People need access to things such as shops, 
their place of work, their family and 
friends. In order to do this , people need to 
be near good transport links. Businesses 
like to have good transport links such as 
roads, railway lines, airports and ports in 
order to transport goods and people 
around.  
People that live in very remote areas do not have good transport links which means they are very stuck 
in being able to get anywhere. 
 
3. Summarise why people live in areas where there are transport links.  

4. Suggest why transport is good for individual people as well as businesses. 

 

¶ Resources 
 

People like being near human resources 
such as good schools, lots of housing and 
good health care. These resources are 
found in urban areas meaning people 
migrate there.  
 
In remote areas these resources are hard to come by making life difficult there. 
 
5. Summarise why people live in areas where there are human resources  

6. Suggest why these resources are not found in rural areas  

 
 
 
 
 
 

Task 4: Exposition 
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Lagos in Nigeria is a city that has seen 
rapid population growth, now home to 
21 million people. 
 
Lagos was originally a collection of small 
fishing villages on the edge of Lagos Lagoon. 
 
Nigeria is one of the most densely populated 
countries in Africa, and the city of Lagos is 
growing rapidly.  
 
 
 
 
 
 

Task 5: Comprehension 
 
Read the text and complete the following questions: 
 

¶ Identify two human causes of Lagos’s population growth (2 bullet points) 

¶ Identify two issues with this rapid population growth (2 bullet points)   
 
Abdulhamid  is from a rural village in the northern state of Kano 
in Nigeria where there are few opportunities and most people are 
living in poverty. He’s left his wife and one-year-old child at 
home and come here to try to make money. 
 
“This isn’t what I intended to be doing. I want to do business – to 
buy and sell, but I can’t do that where I’m from.” he says. “It’s not 
easy to leave your wife, your child, it’s lonely, but I have no choice 
– it’s for the future of the family.” 
 
There are few good jobs and housing is in high demand, but at 
least there are opportunities. 
 
Every week tens of thousands of people arrive in Lagos, looking 
for work. Lagos State is planning tower blocks and 
transformation, reclaiming land from the sea for new 
developments. 
 

Soaring luxury skyscrapers sit alongside a port, enterprise parks and a new city-wide transport system 
of train lines, ferries and bus lanes. In about 30 years Nigeria will overtake the US to become the 
world’s third most populated country behind China and India. 

Manufactu ring jobs are taking off, such as the company Afrione, who wants to get into the global 
market for producing cheap phones and tablets with the tagline “Made in Nigeria” just like China has.  

Stage one of Nigeria’s first electric railway line - through Lagos - is almost finished, but it can’t start 
moving a quarter of a million people a day from the suburbs to the city until its own power station is 
up and running.  
 
“There’s a lot of new infrastructure being built, but it’s skewed and the effects are not felt by the 
common man,” says planning expert Taibat Lawanson. “There’s a gap between the rich and the poor.” 

 

Task 6: Plenary 
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Give reasons why  

Need 2 separate paragraphs containing 
Point, Explain  

Copy out the question. Answer it in your book using your knowledge from this session. 
 

 
 
‘Explain why Lagos has grown (4 marks)’ 

 
 
 
Sentence starters: (Point, Explain)  

 
One reason for the growth of Lagos is_______ this is because... 
 
Another reason for the growth of Lagos is_______ this is because... 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Session 2: What are the physical causes of population growth? 
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Learning Objective: To explain the human causes of population growth 
 
Key words:  
Human = to do with people  
Physical = to do with nature  
Settlement growth  = when the places where people live increase in size  
Fertile  = soil rich in nutrients so plants can grow  
Climate = weather and temperature over a period of time  
Proximity  = closeness 
 

Task 1: Do Now – answer on your lined paper. Correct the false 
statements  
 
True or false? 
 

1. Employment is a cause of settlement growth because people move to areas where there are 
low paid jobs 

2. Transport links help people to reach key services such as shops and schools 
3. Transport links are helpful for businesses because people will be late for work 
4. People need resources to have a good quality of life 

 
 

Task 2: Exposition 
 
Last session you looked at the human causes of settlement and population growth. But there are also 
several physical reasons too:  
 

¶ Fresh water 

¶ Fertile land  

¶ Mild climate  

¶ Flat land 

¶ Natural resources 

¶ Proximity to the sea 
 
Task: Choose one of physical causes above . Explain why it would help to grow settlements.  
 
E.g. Proximity to the sea would help to grow settlements because there would be the opportunity to 
trade goods. This means that people could have access to more resources and make money. 
 
 

Task 3: Comprehension 
 

1. Read the resource on the next page 
2. Summarise each physical cause of population growth into 2 bullet points on your 

lined paper 
 
e.g. Fresh water  
Å Needed for drinking and washing - important for poor countries  
Å Rich countries have technology to transport water  

 
3. Complete the 2 questions at the bottom on your lined paper. 
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Physical causes of population growth and settlement  
 
Fresh water 
 
Water is an important basic human need for everyone. When settlements began, 
being close to a fresh water source like a river or a lake was extremely important. It 
is less important now in richer countries as there is technology to transport water 
around. However in poor countries this is still very important. Often families have 
to travel miles and miles to a water source that may not even be clean.  
 
Fertile land 
 
Fertile land is land that has lots of nutrients to be able to grow lots of crops. This 
is important for food production, another basic human need. In countries where 
the majority of the population are farmers, this is a massive factor influencing 
where people live. Even in the UK, the south of the UK has more fertile land and 
this is also where most people are living.  
 
Flat land 
 
Cities such as London have grown on flat land. This is because it is very difficult for a city to grow in 
the mountains due to it being difficult to build infrastructure for this, it is also difficult to farm and it 
is not very accessible and would cost a lot to build good transport links in mountainous regions.  
 
Mild climate 
 
Humans find it difficult to survive in extreme climates such as polar areas 
or deserts. This means most people are found in areas where there is a mild 
climate, with temperatures ra nging between -5 degrees and +30 degrees. 
Areas like the Arctic and the Sahara Desert have very few people living there 
because it is simply inhospitable.  
 
Natural resources 
 
Settlements grow where there are resources. This is because minerals such as gold and copper, or 
fossil fuels such as oil or gas can be extracted from the ground and sold for money. This opens up 
business opportunities which means the area starts to develop and houses are built and transport 
links are developed.  
 
Proximity to the sea  
 
Being next to the sea is very beneficial for a country due to it being a port 
area to trade with other countries. This help industry and settlements to 
develop due to the good trade links around the world. Countries that are 
landlocked are at a big disadvantage with trade.  
 
 
Questions:  

1. Rank the physical factors in order of importance and suggest why you chose this. 

(1 = most important, 6 = least important) 

2. Suggest one physical factor you have studied as to why Lagos grew as a 
settlement (point, explain) 

 
 
 
 
 



  

9 

 

Task 4: Plenary 
 
Copy out the question. Answer it in your book using your knowledge from Session 1 and 2. 
 
 
 
 

‘Discuss whether human or physical factors play a bigger role in the growth of a 
settlement (6 marks)’ 
 
 
 
 
 
Sentence starters:  (Point, Explain)  
 
One human factor that causes settlement growth isééé.this is because ééééééé.. 
 
One physical factor that causes settlement growth is  ééééééthis is becauseéééééééé. 
 
Another physical/ human factor that causes settlement growth is  ééééééééé..becauseééééé 
 
In conclusion human/ physical factors play a bigger role in settlement growth 
becauseéééééééééééééééé 
 
 
 

Task 5: Microsoft forms questions  
 
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCT
PUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4
u  

 
 
 
 
 
 
 
 
 
 

Look at both sides of the argument and 
give an overall opinion  

Need 3 separate paragraphs containing 
Point, Explain  

https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUQU45MDVGSEsxT0hRQVIzUEFUUkROM1hEUS4u
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Session 3: Differences in population between HICs and LICs 
Learning Objective: To explain why population is different between HICs and LICs 
 
Key words:  
HIC = High Income Country (more developed) 
LIC = Low Income Country (less developed) 
Natural increase = where birth rates are higher than death rates  
Sanitation = Measures to help cleanliness and hygiene. 

 
Task 1: Do Now – complete on your lined paper  
 
Match the key terms to the correct definition 
 
 
 
 
 
 

 
 
Task 2: Exposition  
 
Look at the graph and read the information below it.  

1. Describe what has happened to the population of HICs (developed countries) 
and LICs (developing countries) since 1950.  

 

The population of the world was relatively low and steady until the 1950s when there was a population 
‘explosion’. Since then, there has been a rapid increase in the world’s population so that in 2011 it 
passed 7 billion. The majority of this population growth is, again, in the developin g world. The reason 
for this rapid expansion is mainly due to the decrease in global death rates while birth rates 
remained very high. This meant that many more people were being born than were dying so the 
population grew. This difference between birth ra tes and death rates is called the natural increase. 
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Task 3: Comprehension 
 

a) Read the information on birth and death rates in HICs and LICs.  
b) Copy and complete the tables to fill them in using the information. 

 

HICs (High Income Countries, e.g. England, USA) 
 
Birth rates are low because: 

¶ Women's status has improved so more choose jobs over children 

¶ Contraception and family planning is more readily available.  

¶ Careers are more important than having a family. 

¶ The cost of raising a family has increased. 

¶ People marry later, so there is less opportunity to have large families. 

¶ Increased desire for material possessions, e.g. cars and holidays instead of children. 

 
Death rates are low because of: 

¶ Advances in modern medicine. 

¶ Vaccinations against diseases, e.g. measles. 

¶ Improvements in water and sanitation.  

¶ Enhanced food production and storage. 

¶ Better transport for food.  

¶ Lower infant mortality rates.  

The population in the developed world is therefore fairly stable and neither rising nor falling 
significantly.  

c) List all the reasons for low birth and death rates in HICs. death rates in LICs and 
low death rates in HICs. Draw and complete this table on your lined paper  

 

 

 
 
 
 
 
LICs (Low Income Countries, e.g. India, Kenya) 
 

HIC  
Low birth rate 

HIC  
Low death rate 

People marrying later so have smaller families Safe water supplies so people live longer 
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Birth rates are high because: 

¶ Children are needed to work and bring in an income for the family.  

¶ Children are required to look after elderly parents because of a lack of pensions. 

¶ Lack of availability and knowledge of contraception and family planning.  

¶ High infant mortality rates, so parents have more children in the hope that some survive.  

¶ Religious beliefs– certain religions encourage large families.  

 
Death rates are high because: 

¶ Lack of food caused by famine. 

¶ Malnutrition caused by poor diet  (people not getting enough nutrients)  

¶ Poor sanitation and lack of clean drinking water.  

¶ Natural disasters destroying crops. 

¶ High levels of disease, e.g. malaria.  

¶ Lack of doctors, medicines and healthcare. 

¶ War, e.g. Afghanistan. 

As birth rates are higher than death rates there is rapid population growth in developing countries.  

Draw and complete this table on your lined paper 

 

Task 4: Exposition 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 

LIC 
High birth rate 

LIC 
High death rate 

Children can work to help bring in money  Poor housing conditions 

  

  

  

  

Sudan is a LIC in Africa where there 
is a high birth rate and a high death 
rate  

Denmark is a HIC in Europe where 
there is a low birth rate and a high 
death rate  
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Task 5: Comprehension 
 
Read the resource on Sudan (LIC)  and Denmark (HIC)  
  

1. Explain why there is a high birth rate and death rate in Sudan (point, explain)  
 

2. Explain why there is a low birth rate and death rate in Denmark  (point, explain)  
 
Sudan (LIC) 
 
Sudan is a LIC found in North East Africa. Sudan is a 
country within the Sahara Desert; life is hard here.  
Most of the population still lives in rural Sudan, where 
people are farmers. Families need as many hands on the 
farm as possible, therefore lots of children are born. 
Many of these children will help out on the farm instead 
of going to school and so they do not get an education 
therefore will stay in farming forever.  
Contraception is not widely known about or accessible. 
This means there is no way to stop babies being born. 
There is also a lack of access to medical care, and so 
diseases spread easily. This means many children die 
before their first birthday, encouraging families to have 
even more children, to ensure some of them make it to 
adulthood.  
Due to these reasons, birth rate is extremely high in 
Sudan; however death rate is also extremely high. Due to 
there still being more births than deaths, population 
increases rapidly.  
 
Denmark  
 
Denmark is a very established HIC. Every person born 
will go to school and therefore eventually end up in a job 
that earns a lot more money than farming. Farming is 
mainly done by machinery now, therefore making up 
only a small percentage of industry for the country. 
Women are being educated and want to do well in their 
career before they start to have children. They also have 
access to contraception giving them control over how 
many children they want.  
Health care and sanitation (how clean it is) is very good, 
and so people live much longer and there is no spread of 
disease. People are now living into their 80s and 90s 
rather than their 30s and 40s like in Sudan, ther efore 
death rate is decreasing.  
Due to the low birth rate and low death rate, the 
population is now steady and is not increasing.  

 
 

 
Task 6: Plenary 
 



  

14 

 

Changes 
Need 2 separate paragraphs containing 
Point, Explain , Evidence 

Copy out the question. Answer it in your book using your knowledge from this session. 
 
 
 
 

‘Explain how population differs between HICs and LICs [6 marks]’ 
 
 
 
 
Follow the structure: 
Å Point (say what) 
Å Explain (say why) 
Å Example/Evidence 

 
Sentence starters: (Point , Explain, Evidence)  
 
Birth rate is higher in LICs becauseé For exampleé (Sudan)  
 
Death rate is low er in HICs becauseé For exampleé (Denmark)  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Session 4: Youthful and Ageing populations 

Give reasons why   
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Learning Objective: To explain the causes and effects of youthful and ageing 
populations 
 
Key words:  
Youthful population  = high number of young  people 
Ageing population  = high number of old people   
Life expectancy = the age someone is expected to live until 

 
Task 1: Do Now – complete on your lined paper 
 

1. Define the terms youthful  and ageing 
2. Suggest what might be beneficial about a youthful population   
3. Suggest what could be an issue with an ageing population  

 
 
 
 
 
 
 
 
 
 
 
Task 2: Exposition 
 
This is a population pyramid for Japan, an HIC, showing that it has an ageing population. The 
population pyramid show s the age and gender of the population.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Why are some countries ageing? 

The largest age group is 55-
59-year olds who make up 
10.5 million of the population  

There is a high life expectancy as 
over 1 million people are living 
aged 90-94 

There is a narrow base because 
there is a low birth rate. There are 
not as many young people as old 
people 
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E.g. good healthcare 

means people live 

longer and so have a 

higher life expectancy. 

 
 
 
 
 
 
 
 
 
 
Why are some countries youthful? 
 
 
 
 
 
 
 
 
 
 
 
TASK: 
 

1. Explain one reason why some countries are ageing (do not use my example above!) 
 

2. Explain one reason why some countries are youthful 
 

 

Task 3: Comprehension 
 
Key words: 
Tax = money that people have to pay to the government  
Pensions = money used when people retire/stop working  
Resources = e.g. food, water, healthcare  
Social =  to do with people  
Economic = to do with money  
Environmental = to do with nature  
 
AGEING POPULATION 
Task: Copy the table. Categorise the impacts of an ageing population into positive or 
negative, and THEN into social, economic or environmental. 
 
 

 
 

People can live to meet their 
great grandchildren!  
 
Positive, Social  

More health care is needed as 
old people get more ill 

Old people can get lonely if 
their partner d ies. Often women 
live longer than their male 
partners. 

More space is used up building 
retirement homes etc.  
 
 

More tax is spent on pensions 
instead of education and 
healthcare 
 
Negative, Economic  

Old people can share their 
wisdom with their community  

People can work longer, giving 
the government more money 

Tax money is spent on health 
care for the old, and housing for 
the old 

A whole new industry is created 
to cater for the old (e.g. old 
people’s homes) 

Good health care  Better diet  Good sanitation 
(hygiene) 

Lack of education  Lack of 
contraceptives   

High death rate  

Prevents pregnancies 
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Look at both sides of the argument and 
give an overall opinion  

Need 3 separate paragraphs containing 
Point, Explain  

YOUTHFUL POPULATION 
Task: Copy the table. Categorise the impacts of a youthful population into positive or 
negative, and THEN into social, economic or environmental. 
  
When these young people get 
old, there will be a lot of people 
expecting pensions. 

There are more young people 
who can work 

Very little free healthcare for 
children in LICs. In many 
cultures it is easier to allow a 
sick child to die and be replaced 
by having another child than by 
spending money on medicine. 

More schools and services for 
the young need to be provided. 
There may not be enough 
money for this.  

People can work and make 
money for the government 
through tax  

More jobs are created, 
increasing tax 
 
Positive, Economic  

Young people are generally 
healthier so need less health 
care. 

Resources are needed for the 
expanding youthful population  
 
Negative, Environmental  

Lack of education and 
employment opportunities may 
lead young people to crime in 
order to survive and make a 
living.  

 
Task: Pick one positive social impact of an ageing population and explain why it is  positive. 
 
Point – One positive social impact of an ageing population is… 
Explain – This is a positive because… 
 

Task 4: Plenary 
 
Copy out the question. Answer it in your book using your knowledge from this session. 
 
 
 

‘Discuss the benefits of having an ageing population [6 marks]’ 

 
 
 
Sentence starters: (Point, Explain)  
 
One social benefit about an ageing population isé. I think this becauseé. 
 
One economic benefit about an ageing population isé I think this because ééé 
 
However, one social/economic/environmental issue about an ageing population isé I think this 
becauseé 
 
In my opinion, I think the re are more benefits than issues becauseé 
 

 
Task 5: Microsoft forms questions  
 
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCT
PUNp5ndmKxHknbAOwID99xUNVM5UjkyN09QVkVCNksyR01VSkFZVEdERy4u   

 
  

https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUNVM5UjkyN09QVkVCNksyR01VSkFZVEdERy4u
https://forms.office.com/Pages/ResponsePage.aspx?id=dBTLADSljUaCn2NuzjLCTPUNp5ndmKxHknbAOwID99xUNVM5UjkyN09QVkVCNksyR01VSkFZVEdERy4u

